
CH-004 CPU  HOLDER

Before starting assembly
Carefully open the carton, remove contents and lay out on cardboard or other protective 
surface to avoid damage.

Install and operate this device with care. Please read this instruction before beginning the 
installation, and carefully follow all instructions contained herein.Use proper safety 
equipment during installation.Do not use damaged or defective parts.

Do not use this product for any purpose or in any configuration not explicitly specified in 
this instruction. We hereby disclaims any and all liability for injury or damage arising from 
incorrect assembly, incorrect mounting, or incorrect use of this product.

This CPU holder can be installed in two ways. 

Option A: Under-Desk Install

Option B: Wall/Desk Sideboard Install

Supplied Parts List

A B

(1) Holder-a (1) Pole A-b (1) Pole B-c

(4) M6x16 Screw-l

(2) M6x6 Bolt-h(3) M5x14 Bolt-g(1) M4x4 Bolt-f(1) Grub Screw-e

(4) M8x40 Concrete 
Anchor-k

(4) M6x45 Lag Bolt-j(3) M6x16 Screw-i

(1) Pole Clamp-d

(1) Round Plate-n (1) Allen Key-o(2) Cable Tie-m

1



Option A: Under-Desk Install

1

3

2

b

i

h

d

a

o

og

n
c

e

4

Connect the Pole Clamp 
to CPU Holder by two 
pieces M6X8 bolts.

2



Option A: Under-Desk Install

5

6

7

Measure the thickness of 
CPU. Adjust the width of CPU 
holder accordingly by loosing 
the four plastic knobs.

Attach the CPU to the CPU holder and 
fasten the knobs. Fasten the webbings for
additional security. Make sure the pads 
placed in the middle of CPU top surface.

Attach the Pole Clamp to Pole 
and add the M4x4 Bolt.

loosen

Tighten

f

Manage the spare 
webbings by two cable 
ties provided.

m

3



Option B: Wall/Desk Sideboard Install

1

2

Remove two plastic knobs and dispart the side support bracket from CPU holder.

a

side support bracket

Install the wall bracket to a wall or the sideboard of wooden desk.

Concreate/Block Wall

Wood Studs Wall

40mm

45mm

8mm

j

k

l

j

45mm

3.8mm

Sideboard of Wooden Desk

4



Option B: Wall/Desk Sideboard Install

3

4

5

Attach the side support bracket to the 
CPU holder and screw on two plastic 
knobs. Please don’t fasten them at this 
step.

loosen

Measure the thickness of CPU.Adjust 
the width of CPU holder accordingly by 
loosing the four plastic knobs.

Attach the CPU to the CPU holder and fasten the knobs. Fasten the webbings for 
additional security. Make sure the pads placed in the middle of CPU top surface.

Manage the spare webbings 
by two cable ties provided.

m

Tighten

Pad

5


